

Multiply: $(x+2)(x+5)$


Ans: $x^{2}+7 x+10$
How do we go backwards?
How do we go from $x^{2}+7 x+10$ to $(x+2)(x+5)$ ? We factor!

To factor the quadratic, $x^{2}+7 x+10$, start with a boxlike the one on the


- The $x^{2}$ term always goes in top-left
-The constant term always goes in bottom right.
- The trick is to factor the constant term so that the two factors add up to +7 , the coefficient of middle term: $2+5=7 \pm$

Given $f(x)=x^{2}+3 x-4$ and $g(x)=x-1$, find each function.

1. $\left(\frac{f}{g}\right)(x)$ " $f$ divided by $g$ of $x$ "

$$
\begin{aligned}
\frac{f(x)}{g(x)}=\frac{x^{2}+3 x-4}{x-1} & =\frac{1 x+4 x x-1}{(x-1)} \\
& =x+4) \leftarrow \text { Answer }
\end{aligned}
$$



Given $h(x)=x^{2}-6 x+8$ and $k(x)=x-2$, find each function.
2. $\left(\frac{k}{h}\right)(x) \quad$ " $k$ divided by $h$ of $x$ "

$$
\frac{K(x)}{h(x)}=\frac{x^{2}-6 x+8}{x-2}=\frac{(x-2)(x-4)}{(x-2)}=x-4 \text { Answer }
$$



